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A final class cannot be

A\ final method can be inherited
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What is the extension of compiled java classes?
a. .js b.
c. .class d.

xt
Jjava

Which of these keywords is used to define interfaces in Java?

a. intf b.
c. interface d.

Intf
Interface

What is the numerical range of a integer data type in Java?

a. -2,147,483,647 to 2,147,483,647 b.
c. 0to 32767 d.

Select the valid statement.
a. char ch|[]=new char(5)
c. char ch[]=new char()

0 to 65535
-128 to 127

b. char ch[]=new char|5]
d. char ch[]=new char]]

Select the valid statement to declare and initialize an array.

a. int[] A={} b. int[] A={1,2,3}
c. int[] A=(1,23) d. int[][] A=(1,2,3)

Identify the correct restriction on static methods.

1. They must access only slatic data

2. They can only call other static methods.

3. They cannot refer to this or super.

a. land Il b.
¢. landlll d.

Il'and 111
All

Identify the kevword among the following that makes a variable belong to a class, rather
than being defined for each instance of the class.

a. final b.
¢. abstract d.

Identify the return type of a method that does not return any value.

a. int b.
¢. double d.

What is the use of javac command?

a. Execute b.
c. Interpret d.
IR Stands fOr iiaviiaennss susiss

a. Java Run Ecosystem b.

¢. Java Runtime Environment d.

What makes the Java platform independent?
a. Advanced programming language b.
¢. Class compilation

static
volatile

void
None

Compile
Debug

JDK Runtime Environment

None of these

[t uses bytecode for execution

d. All of these
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b) What are the characteristics o

a) What are the features of abstra 7'
b) What are the illegal combina

a) What are the different types o
b) What are the java interfaces? W

a) What are the different events Ly

a) Write a java program tl,\_at_;co '
b) Write a java program that conta
Explain in details about the vari
output generated as well.
import java.util. ArrayList;
import java.util.Collections; // Imp

public class Main {
public static void main(Sh‘Tn"ﬂ
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